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ZESTAWIENIE STALI - PRETY AllIN RB500W

POZ.SZTUK d Dlugos¢ Masa Razem
() (m) (kg) (m)
1 108 12 1,500 1332 162,000
2 84 10 5,000 3,085 420,000
3 84 10 5,300 3,210 445,200
4 84 10 4,900 3,023 411,600
5 84 10 3,550 2,190 298,200
6 24 10 1,870 1,154 44,880
7 24 10 1,550 0,956 37,200
8 24 10 1,300 0,802 31,200
9 10 12 2,310 2,105 23,100
10 38 12 2,130 1,891 80,940
11 10 12 2,680 2,380 26,800
12 3 12 2,340 2,078 88,920
13 11 8 1,880 0,743 20,680
14 16 12 4,000 3,552 64,000
15 66 8 1,110 0,438 73,260
16 48 8 1,170 0,462 56,160
17 48 8 1,070 0,423 51,360
18 150 8 2,130 0,841 319,500
19 102 8 2,340 0,924 238,680
2 150 8 2,310 0,936 355,500
21 102 8 2,680 1,059 273,360
RAZEM DLUG. (KLASA STALI AllIN RBS0OW)
() (kg/m) (m) (kg)
8 0,395 1.388,500 548,459
10 0,617 1,688,280 1.041,667
12 0,888 446,360 396,368
MASA - Razem 1,986,494
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